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Ch. 19 Review

Honors Chemistry

What do each of the following indicators do and what are the used for?
a. Blue litmus paper

b. Red litmus paper
C. Phenolphthalein

Using the Bronsted-Lowry definition, define the parts of the following Reaction:
H,PO4 (aq) + H,0(l) = HPOs*(aq) + H30"(aq)

Aaid  Rase CR CR

With regard to strength and weakness of acids and bases, compare “=" and “3" with each other:

STRONG ¢ —> WIPR & &=

What are the reactants and products of the self ionization of water?
. 4 A
\'\zo < \‘l + O H

List the properties of acids
List the properties of bases

What is rule *1 for naming acids? Give 2 examples. »10\0 enolm.s

What is rule #2 for naming acids? Give 2 examples. = \*2 < V\Gl\“ﬁ
What is rule #3 for naming acids? Give 2 examples. = ate 'eﬂo““j

How is pH calculated? If 1.5-M acid ionizes at 25%, what is the H* concentration and pH?

-log ) W=15x.25= 315 ot = .u3

How is pOH calculated? If 2.5-M base ionizes at 43%, what is the OH’ concentration and pH?

~log ©W) O™ = 2.5 x.M3= | 075 poh= O
9\5‘ = \Y




12. Compare diluted and concentrated solutions using the terms solvent and solute.

Dilske: Mgh Solvent, low solste  Concenteated & Lows Selvent 5 Wah  golofe

13. What are acids and bases according to Arrhenius?
]

; i W
Bf‘:\ﬁl..’ H¥ lon 1IN “dq," Rase s OHN 1ons W 4
14. What are the 3 types of Arrhenius acids? Give an example of each.

l>Msnc(>co‘\'\'c. 2.) Diperotic 3.) Taprotie

15. What are the products of any neutralization reaction? Sall + Weter

Conjuyate acid-base pair

16. Using the following image to explain conjugate acid-base pairs.

s

5 4
Hef & Ha0 == Hzot + &

= + : . o
o —-» acid base: acid- base
HCl = C\ He H.0 dy o cid2
. Conjugate acid-base pair
P«md > C & Rase —» )

17. What is the difference between a strong acid and a weak acid?
STRoNL-: 100 Zo 16n2ation

WIMC: @ equilibrivm

18. What is produced when metals react with strong acids? Write an equation showing what happens.

(Y\3q) + 2z hC\ @) — H, (a5 + Myl

19. Define the following:
a. Amphoteric

b. Anhydride

c. Buffer

d. Buffer Capacity

e. Hydronium

f. Degree of lonization

g. Titration

h. End Point

i. Equivalence Point

j- Hydrogen-ion concentration

k. Hydroxide-ion concentration



20. Explain how a conjugate base prevents acids from being strong acids.

The Con\\usq\—e base otracts the loniredh yt Keepm q
i+ atr . equilibriom

21. Rank the following compounds in order of increasing H+ concentration:
3 1.0-M Weak Acid, 4‘ 1.0-M Strong Acid, 2— 1.0-M Weak Base, I 1.0-M Strong Base

22. Match each solution with its correct description: (draw lines connecting them)

a. Dilute, weak acid 118-MHs0, C  Digtel Low Melacity

b. Dilute, strong base 2.0.5-M NaOH [ Concentomted R's‘.\“ Md“;,\.),
c. Concentrated, strong acid 3.15-M NH; E

d. Dilute, strong acid 4.0.1-M HCyH;0, A\

e. Concentrated, weak base 5.01-MHC D

23. Describe why a buffer might be used in buffered aspirin.

I'\' FWC'\'\" '“\e- ase“'\“ HOM C\‘““a‘ “3 P\'\ &= Ae““*uf\.vm

24. Explain in detail how a titration is performed.

25. Explain in detail how a titration helps you determine the Molarity of an unknown base.
TXx awes You the vyolome of +thwe vnknewn base , allowing Hov {o

)

Calevlate the molanty o Fter o\e\'etmwn Yre Nomber of Moles prcsfn‘\‘

26. What volume of 2.13-M Ba(OH), (in mL) is needed to neutralize 305-mL of 1.9-M H,504? You must first

write a balanced equation. H, S0, <+ Ba CW), —> BoSO4e + 2 HOW
LUl | 205 = 5795 o WaS04 || onol BAEDL 5795 ol BaloWe rm L
: 1t mol W80, 2.13-M o

27. If 163-mL of 1.95-M Ca(OH), is neutralized by 207-mL of HCl, what is Molarity of the HCI? You must first
write a balanced equation. 2Hey +» CaW, — CaCly, < 2ZHown

1.AS mel 0 03-Lz 3B mel Ca@D | 2 mal HO\ .30 mol WeY (3 nid,

L1 mol Calow), . 2.067

28. If 46-mL of 1.3-M NaOH is required to titrate HsPO, to the equivalence point. How many moles of H3PO,
are needed to reach the equivalence point? You must first write a balanced equation.

l—\ PC"._' - 3N«°“ — N“; P04. + 2Ron

A $m~‘ - Ao P
X .04b-L = .059¢ mo Ngou\ | mol W3P0y
- [ oot N8 ° ,OL mo HsPO._{
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